SuRiTEEERGR Y

D - S

——CHINA FU RUI VALVE— Conventional selection accessories for pneumatic actuators

SMAITEEEIGEEH

Conventional selection accessories for pneumatic actuators

T 88w R EY

Full of innovation, wise and enterprising

ﬂlﬁiﬁﬂiﬂﬁlﬂﬂ Actuator color can be customized
Bl a2/« B %EE/00e 2S00 Tl e/ 0range Il RE/ sray

091 PAGE

1.TENR :

FHREGEBR =S aL TR iR SO/ P AL T3 0um.

25EED:
B/NSiRES3bar , BXSRE8bar.
3T ERGERE
¥RAfE © -20°C ~ +80°C
iR : -40°C ~ +80°C
HiR :-20°C~ +160°C
4477218 :
0°FI90°F M B
BH+5°ETEE
SERFS  ERAEEINRE

1.0perating media:

Dry or lubricated air, or the non-corrosive gasses

the maximum particle diameter must less than 30 ym
2.Air supply pressure:

The Min supply pressure is 3 Bar

The Max supply pressure is 8 Bar
3.0perating temperature:

Standard: -20°C ~ + 80°C

Low temperature:-40°C ~ + 80°C

High temperature: -20 ~ + 160°C
4.Travel adjustment:

Have adjustment range of £5°for the rotation at 0°and 90°
5.Use occasions:Indoor or outdoor installation

EMER R Operating type

W{EFBFNE{ERE Double acting and spring return

SIREECHS NAMUR 5 |, SliRide 5 (it e eamiiR. R INAMURKR SR DRI - SrREsder, |
EIfERUFFE. EEEEaE i,
The Namur drive pinion and the Namur top mounting Bottom mounting connection is designed in accordance

Air supply connection is designed in accordance
with NAMUR Standard to install solenoid valves.

[P ETLIgTHYSIS05211, DIN3337THREETLL
EEREEa (ST R

connection permit direct installation of accessories with ISO5211 and DIN3337 standards for direct mounting

such as limit switch box and positioner.

with valve gear boxes or mounting brackets.

e W&
Couriter Clocksise Retaon Clockwise Rotation
SEARTEENAE
Spring positions of Spring Retum Actuators

@@ el @@ 8
@@ @@ @@ @@

ﬂl!‘ IMHI 111!!!

PAGE 092




SRR EIhEEREH RESE R S

Conventional selection accessories for pneumatic actuators Full of innovation, wise and enterprising

O - ESESiE SEIITE R E G

e CHINA FU RUI VALVE =—— Conventional selection accessories for pneumatic actuators

WERAMTERM L E(R{AI:NmM) Double Acting Actuator Output Torque(UnitNm) 5 VE R T EER tEEASE (B8 : Nm ) Spring Retum Actuator Output Torque(UnitNim)
WMASIEED (247 : B) Input air supply pressure (unit:Bar) SEE IR HIE Output torque of air to spring —
AT32D 3.1 4.7 6.2 7.8 9.4 11 12,5 - BiRSE Dutrgtr ;tr?grque
AT52D 8.5 12.7 17 21.2 255 29.7 34 AESUpPIY presaute
A . e e [w e e e e v oo [l e
AT75D 21 31.8 42.4 53 63.6 74.2 84.8 ‘
AT83D 32.5 48.7 65 81.2 97.4 113.7 130 gffﬁ ﬁﬁ gffﬁ %ﬁ Eﬁ ﬁf Start ﬁf gfﬁ ol St#ﬁt -
AT92D 46.5 69.8 93 116.3 140 162.9 186 E S orn et | S| Tns
AT105D 69.3 104 138.5 173.2 207.8 242.5 277 TR E A R T SRR
AT115D 95 129 172 215 258 301 344 7 | 279 | 186 | 441 | 348 | 60.4 | 51.0 | 76.6 | 67.3 30.1 | 20.8
AT125D 108 162 216 270 324 378 432 AT83S 8 | 249 143 | 412 | 305 | 574 | 46.7 | 73.6 | 63.0 | 89.9 | 79.2 344 | 23.8
AT140D 184.7 277 369.5 461.8 554 646.5 739 9 38.2 | 26.2 | 54.4 | 424 | 707 | 58.7 | 86.9 | 749 | 103.1| 91.1 | 38.7 | 26.7
AT160D 281.5 422 563 704 844 985 1126 10 352 | 219 | 515 | 381 | 67.7 | 54.4 | 839 | 70.6 | 100.2| 86.8 | 43.0 | 29.7
AT190D 453 680 907 1135 1361 1587 1814 11 485 | 338 | 64.7 | 50.1 | 81.0 | 66.3 | 97.2 | 825 | 47.3 | 32.7
AT210D 554 831 1108 1384 1662 1939 2216 12 455 | 295 | 618 | 458 | 780 | 62.0 | 94.2 | 782 | 51.6 | 356
AT240D 814 1221 1628 2035 2442 2849 3256 5 | 480 | 395 | 713 | 62.8 30.3 | 218
AT270D 1236 1854 2472 3090 3708 4326 4944 6 43.7 | 335 | 66,9 | 56.7 | 90.2 | 80.0 35.6 | 26.1
7 | 393 | 274 | 626 | 50.7 | 85.8 | 73.9 | 109.1| 97.2 424 | 305
AT92S 8 | 349 | 21.4 | 58.2 | 446 | 815 | 67.9 | 1047 | 91.2 | 128.0 [ 114.4 484 | 349
_ 9 538 | 386 | 77.1 | 61.8 | 100.4 | 85.1 | 123.6 | 108.4 | 146.9 | 131.6 | 54.5 | 39.2
BERATARIGEEE (6L : Nm ) spring Retum Acuator Output Torque(Unithim) 10 495 | 325 | 728 | 55.8 | 96.0 | 79.0 [ 119.3 | 102.3] 142.6 | 125.6 | 60.6 | 43.6
11 68.4 | 49.7 | 91.7 | 73.0 [ 1149 96.3 [ 138.2[ 1195 66.6 | 47.9
S IkERM L Output torque of air to spring WEE G 1IE 12 64.0 | 43.7 | 87.3 | 669 | 110.6 | 90.2 | 133.8 | 113.5 | 72.7 | 52.3
T =meE 0“‘!‘;‘5*;:;4”"- 5 | 64.6 | 57.7 | 99.2 | 92.4 46.2 | 39.3
Air supply pressure 6 | 56.7 | 485 | 91.4 | 83.1 |126.0[117.8 55.4 | 47.2
| ' ; 7 | 489 | 393 | 835 | 73.9 | 118.2 | 108.5 | 152.8 | 143.2 64.6 | 55.0
ArinEs : 410 | 300 ?go?.u 64.7 1;2.3 gg.i 144.9 123.9 179.6 163.5 S — ;:.9 62.9
= 7.8 | 55.4 | 1024 90.1 [ 1371|1247 [ 171.7 | 159. : ; 1. | 707
5 ST P o I LI I [163 9 10 1965 8er (23 [ 7se
. 130 | 116 4.0 11 86.7 | 71.6 | 121.4 | 106.2 | 156.0 | 140.9 [ 190.6 | 1755 | 101.6 | 86.5
6 122 | 105 | 165 | 148 47 12 789 | 62.4 | 1135 97.0 | 148.1 (1316 | 182.8 | 166.3 | 110.8 | 94.3
7 s.z 5.2 115 | 9.4 | 157 | 13.7 | 20.0 | 17.9 7.5 5.5 5 | 814 | 513 [ 1244 943 | 1674|1373 77.7 | 47.6
AT52SR 8 64 | 41 | 107 | 83 | 149 | 126 | 19.2 | 168 | 23.4 | 21.1 86 | 6.3 6 | 718 | 35.8 | 1148 788 | 157.8 [ 121.8 g3 | 572
9 99 | 73 [ 141 | 125 | 184 | 158 | 226 | 20.0 [ 269 | 243 | 97 [ 7.1 7 | 623 | 20.0 | 1053 | 63.0 | 148.3 | 106.0 | 191.3 | 149.0 109.0 | 66.7
10 91 | 6.2 | 133 | 104 | 17.6 | 14.7 | 21.8 | 189 | 26.1 | 23.2 | 108 | 7.9 8 95.8 | 48.0 | 138.8| 91.0 | 181.8 | 134.0 | 224.8 | 177.0 124.0 | 76.2
11 125 | 94 | 168 [ 136 | 21.0 | 179 | 253 | 221 | 119 | 87 AT1155 9 86.3 | 32.0 | 129.3| 75.0 [172.3|118.0 | 215.3 | 161.0 | 258.3 [ 204.0 | 140.0 | 85.7
Lo 118 | 83 | 16.0 | 125 | 203 | 168 | 245 | 21.0 | 13.0 | 9.5 10 119.7 | 60.0 | 162.7 | 103.0 | 205.7 | 146.0 | 248.7 | 189.0 | 155.0 | 95.3
s | 157 | 125 | 23.1 | 20.0 99 | 6.8 11 110.0 | 44.0 | 153.0 | 87.0 | 196.0 | 130.0 | 239.0 | 173.0 | 171.0 | 105.0
6 | 143 | 105 | 21.8 | 180 | 29.3 | 25.5 119 | 8.1 5 o] 720 | 1 | 7o [ 2enn | 1580 [ 1sE | T14.0
7 | 130 | 85 | 204 | 160 | 27.9 | 235 | 354 | 310 139 | 95 * : : : : :
ATEAsh 8 | 116 | 65 | 19.1 | 140 | 26.6 | 21.5 | 340 | 29.0 | 415 | 36.5 159 | 10.8 2 E; 13”: igz 1?3 TR T gg :i
9 17.7 | 12.0 | 25.2 | 195 | 327 | 27.0 | 40.2 | 345 | 476 | 420 | 179 | 12.2
10 164 | 10.0 | 238 | 175 | 313 [ 250 [ 388 | 325 | 463 | 40.0 | 199 | 136 7 110 | 72 | 171 | 134 | 232 | 195 [ 294 | 257 112 | 74
11 225 | 155 | 300 | 23.0 | 375 | 305 | 449 | 380 | 219 | 149 8 99 56 161 | 118 | 222 | 179 | 283 | 241 | 345 | 302 128 | 85
12 211 | 135 | 286 | 21.0 | 36.1 | 285 | 436 | 36.0 | 23.9 | 16.3 AT125S 9 150 | 102 | 211 | 163 | 273 | 225 | 334 | 286 | 395 | 347 | 144 | 96
5 | 27.0 | 21.6 | 39.3 | 34.0 155 | 10.2 10 139 | 86 | 201 | 147 | 262 | 209 | 323 | 270 | 385 | 331 | 160 | 106
6 249 | 185 | 37.3 | 309 | 49.7 | 433 186 | 12.2 11 190 | 131 | 251 | 193 | 313 | 254 | 374 | 315 | 175 | 117
7 229 15.5 35.3 27.8 | 47.6 | 40.2 60.0 52.6 21.7 14.2 12 179 115 241 177 302 | 2038 | 363 299 191 127
CEree 8 | 209 | 124 | 33.2 | 247 | 456 | 37.1 | 58.0 | 49.5 | 704 | 618 248 | 16.2 5 188 | 144 | 280 | 236 133 | 89
i XA IE SRR N R A AR R PP B A NN
11 395 | 27.8 | 519 | 402 | 643 | 526 | 76.6 | 649 | 340 | 22.3 ; i:i 23, i:i 1?: :i; gz: :ig ij? &0k | 453 ;i; :i:
12 375 | 24.7 | 499 | 37.1 | 62.2 | 495 | 746 | 61.8 | 37.1 | 24.4

093 PAGE PAGE 094




SRR EIhEEREH RESE R S

Conventional selection accessories for pneumatic actuators Full of innovation, wise and enterprising

O - ESESiE SEIITE R LG RE Y

e CHINA FU RUI VALVE =—— Conventional selection accessories for pneumatic actuators

BFRMITREMLAYE (B2 : Nm )Spring Retum Actuator Output Torque(UnitNm) AT BSEIMITER
AT Pneumatic actuator o

A=l

SR RS HE Output torque of air to spring

- _ HERHNE
SESE Output torque

Air supply pressure =Rrng MR TGeneral Drawing

-+ 0 N I A ) B2 R A
g2 | _

AP A b B PR EA B E
Start | End | Start | End | Start | End | Start | End | Start | End | Start | End | Start
9 209 | 129 | 302 | 222 | 394 | 314 | 486 | 407 | s79 | 499 | 240 | 160
AT140S 10 191 | 103 | 284 | 195 | 376 | 288 | 469 | 380 | 561 | 472 | 267 | 178
11 266 | 169 | 358 | 261 | 451 | 353 | 543 | 446 | 293 | 196
12 248 | 142 | 341 | 234 | 433 | 327 | 525 | 419 | 320 | 214
5 286 | 222 | 427 | 362 201 | 136
6 259 | 182 | 400 | 322 | 541 | 463 241 | 163
7 232 | 141 | 373 | 282 | 513 | 423 | 654 | 564 281 | 190
AT1605 8 205 | 101 | 345 | 242 | 486 | 383 | 627 | 524 | 768 | 664 321 | 218
9 318 | 202 | 459 | 343 | 600 | 483 | 741 | 624 | 881 | 765 | 361 | 245
10 291 | 162 | 432 | 303 | 573 | 443 | 713 | 584 | 854 | 725 | 401 | 272
11 405 | 263 | 545 | 403 | 686 | 544 | 827 | 685 | 441 | 299
12 377 | 222 | 518 | 363 | 659 | 504 | 800 | 645 | 481 | 326
5 448 | 332 | 675 | 559 349 | 232
6 402 | 262 | 629 | 489 | 856 | 716 418 | 278
7 356 | 192 | 582 | 419 | 809 | 646 | 1036 | 873 488 | 325
AT190S 8 309 | 123 | 536 | 350 | 763 | 576 | 990 | 803 | 1217 | 1030 558 | 371
9 490 | 280 | 717 | 507 | 943 | 733 | 1170 | 960 | 1397 | 1187 | 627 | 418
10 443 | 210 | 670 | 437 | 897 | 664 | 1124 | 891 | 1351 | 1117 | 697 | 464
11 624 | 367 | 851 | 594 | 1077 | 821 | 1304 | 1048 | 767 | 510
12 577 | 297 | 804 | 524 | 1031 | 751 | 1258 | 978 | 837 | 557 o .
5 638 468 950 780 467 297 G1/4"NUMAR Standard  G1/2°"NUMAR Standard
6 579 | 375 | 890 | 687 | 1202 | 998 560 | 356
7 519 | 282 | 831 | 593 | 1143 | 905 | 1455 | 1217 654 | 416
8 460 | 188 | 772 | so0 | 1083 | 812 | 1395 | 1123 | 1707 | 1435 747 | 475
ATRRE 9 712 | 407 | 1024 | 718 | 1336 | 1030 | 1647 | 1342 | 1959 | 1653 | 840 | 535 FMEZERRT Overview Dimension
10 653 | 313 | 965 | 625 | 1276 | 937 | 1588 | 1248 | 1900 | 1560 | 934 | 594
- B st R S .05 PO Y ¥ 0] [ A2 [DA/SR| 225 225] 20 | 45 | 70 | 30 | 50 | - [F03] - | Msxa] 9%0 | 15| 110] 34 |  Gue
€ A RTTS A BT = T AT40 |pA/srR| 35 | 35 | 20 [ 56 | 85 | 30 | s0 | - | Fo3 - M5x8 | 9x9 | 15 | 115 | 34 G1/8"
7 762 346 1250 | 835 1739 | 1324 | 2228 | 1812 1119 | 704 ATe3 |DA/SR| 36 46 20 89 | 115 | 30 g0 | FO5 | FO7 | M6x10 | M8x12 | 14x14 | 15 | 175 | 34 Gl/4"
8 661 | 187 | 1150 | 675 | 1639 | 1164 | 2127 | 1652 | 2616 | 2141 1279 | 804 AT75 IDA/SR| 42 | 52 | 20 [ 100 | 127 | 30 | 80 | FO5 | Fo7 | M6x10 | M8x12| 14x14 | 15 | 190 | 34 G1/4"
ATZ2403 9 1049 | 515 | 1538 | 1004 | 2027 | 1492 | 2525 | 1981 | 3004 | 2470 | 1439 | 905 AT83 |DA/SR| 46 | 55 | 20 | 109 | 135 | 30 | 80 | FO5 | FO7 | M6x10 | M8x12 | 14x14 | 15 | 215 | 34 | G1/4"
10 949 | 355 | 1437 | 844 | 1926 | 1333 | 2415 | 1821 | 2903 | 2310 | 1599 | 1005 AT92 |DA/SR| 51 |575| 20 | 117 | 143 | 30 | 80 | FO5 | Fo7 | M6x10 | M8x12 | 17x17 | 17 | 255 | 41 G1/4"
11 1337 | 684 | 1825 | 1173 | 2315 | 1661 | 2803 | 2150 [ 1759 | 1106 AT105 [DA/SR| 58 | 64 | 20 | 134 | 161 | 30 | 80 | FO7 | F10 | M8x12 |M10x16| 22x22 | 25 | 278 | 41 G1/4"
12 1236 | 524 | 1725 | 1013 | 2213 | 1501 | 2702 | 1990 | 1919 | 1207 AT115 |DA/SR| 645|745 | 40 | 145 | 185 | 30 | 80 | FO7 | F10 [ M8x12 [M10x16] 22*22 | 25 | 310 | 62 G4
B R R R 933 AT125 |DA/SR|67.5| 70 | 30 | 157 | 195 | 30 | 80 | FO7 | F10 | MBx12 [M10x16| 22x22 | 25 | 310 | 41 | Gl1/4’
S (I (M ) e e B vy e i AT140 |DA/SR| 76 | 77 | 30 | 174 | 193 | 30 | 130 | F10 | F12 |M10x16|M12x20| 27x27 | 30 | 310 | 62 G1/4"
g 1053 | 408 | 1740 | 1095 | 2427 | 1782 | 3112 | 2469 | 3801 | 3156 1653 | 1008 AT160 |DA/SR| 865 |875| 30 | 199 | 218 | 30 | 130 | F10 | F12 [M10x16(M12x20| 27x27 | 30 | 400 | 62 G1/4"
AT270S [ o 1614 | 889 | 2301 | 1576 | 2988 | 2263 | 3675 | 2950 | 4363 | 3637 | 1860 | 1134 AT190 |DA/SR| 103 | 103 | 30 | 233 | 263 | 30 | 130 | F10 | F12 |M10x16|M12x20| 36x36 | 34 | 456 | 62 | Gl/4'
10 1488 | 682 | 2175 | 1369 | 2862 | 2056 | 3549 | 2743 | 4237 | 3430 | 2066 | 1260 AT210 |DA/SR| 113 | 113 | 30 | 257 | 287 | 30 | 130 & F12 . M12x20| 36x36 | 34 | 525 | 79 Gl1/4"
11 2049 | 1162 | 2736 | 1849 | 3423 | 2536 | 4111 | 3223 | 2273 | 1386 AT240 |DA/SR| 129 | 129 | 30 [ 293 | 323 | 30 |130| - | F16 - M20x24| 36x36 | 34 | 535 | 79 G1/4"
12 1923 | 956 | 2610 | 1643 | 3297 | 2330 | 3985 | 3017 | 2480 | 1512 AT270 |DA/SR| 146 | 146 | 30 [ 333|363 | 30 | 130| - | F16 - |M20x24| 46x46 | 52 | 595 | 79 G1/4"

095 PAGE PAGE 096




® o — LY o — *
biE - ESSSitD SaMITEEEIIER R ST EEEILERECH BT 087 B
—— CHINA FU RUI VALVE =—— Conventional selection accessories for pneumatic actuators Conventional selection accessories for pneumatic actuators Full of innovation, wise and enterprising
AT BISE{TEE WERL ( (BHE )
AT Pneumatic actuator Double acting (top view)
o B B g
o 3

¥l Material

PAREALEE Anti-corrosive

aJif%t ¥l Optional materials

1 {8 Indicator saew 1 B Plastic

2 {888 Indicator 1 ¥} Plastic

3 & Spring dlip 1 AHAN Stainless steel

4 448 Washer 1 A5 Stainless steel

5 5184 Outer gasket 1 T#2¥8H Engineering plastics

6 i {&Cylinder body 1 HrEEEh 6005Extruded profile TS Hard anodizing

7 PIEv Inner gasket 1 T 28 Engineering plastics

8 Y Cam s SeMAlloy steel 8./ T Viton/Silicone rubber
9 _EHOAZ8 Oring(Pinion top) 3 THSSEINBR

10 LAV Bearing(Pinion top) 1 T8 Engineering plastics

11 e Pinion 1 a=MAlloy steel 58 Nidkel plating A~¥%58 Stainless steel

12 “HiFE Bearing(Pinion botom) 1 TF288# Engineering plastics

13 #0748 Oring(Pinion botom) 1 THEIERNBR S5/TEREY Viton/Silicone rubber
14 3L Plug 2 THSISEINBR 8/ T8 B2 Viton/Silicone rubber
15 | FPigs OB Adjusting scew Oring | 2 THSASEINBR S/FESE Viton/Silicone rubber
16 | WP SAdjusingscewnut | 2 FRAHA Stainless steel

17 a8 Adjusting bolt 2 A5 Stainless steel

18 jEE Piston 2 | [EERE/HEMEngineering plastics | Stk/i#¥ Oxidation/Zinc plating % Stainless steel

19 BRI Piston guide 2 T#2¥8H Engineering plastics

20 TR Piston bearing 2 TH2EEH Engineering plastics

21 &2 0f/8 Piston Oring 2 THSSEINBR SU/TESEY ST HR VitorySiicone rubber/HNER
2 3% Spring 012 S Spring stee AR Dipping paint

23 EARS O8I End cover Oring 2 THESHEINBR /RS T THE VitorySilicone rubber/HNBR
24 iizS End cover 2 JE#E Cast aluminum I Powder coating

25 IriEsiRre End cover bolt 8 FHAtR Stainless steel

26 BR{LMEE Limit bolt 2 FHAN Stainless steel

27 FRAIRES Limit nut 2 AN Stainless steel

097 PAGE

~I

EREZSBHAOBA  EEaEEnERSIED ,
WM SRS , AR, REEUES
SHBOHER.

Compressed air is input from port A to make the left and right pistons
move in opposite directions, The output shaft rotates counterclockwise
to open the valve and air on the sides of the two pistonsExcluded by

port B.

BFR ((HHE )

Single acting (top view)

P -

\I |

EREZSHAOBA  EEREERBERA@IEE ,
WHMER T EER | FIFFRTD  MEEMES
SEHBOHERR.

Compressed air is input from port A to make the left and right pistons
move in opposite directions, The output shaft rotates counterclockwise
to open the valve and air on the sides of the two pistonsExcluded by

port B.

&if:

1. EEEREER TS R NRET XA , DR $
AFTFHRI ).

2, ENEIREERNERE S R R XEAR] , R
R AT,

EEZ=SHBOMA , FEaEERERGRED
B LIRS SRR, XEAET] , mEENEE
SHADOHR.

Compressed air is input from port B to make the left and night
pistons move in opposite directions, The output shaft rotates
clockwise to close the valve and the sides of the two pistons
are empty.Gas is removed from port A.

KSEKER , BT RENFRAEREERO®RE
BHRTET S E , XERET]  ZSBAOHRR , BOZ
SENEXAR .

When losing air or power, the center of the two pistons moves due
to the action of the spring, and the outputClockwise, close the valve,
the air will be discharged from paort A, and the intake of port B can
accelerate Close the valve.

Remarks:

1. The rotation direction of standard operation is to close the valve
clockwise and counterclockwise To open the valve.

2. Reverse the rotation direction of the piston assembly to close
the valve counterclockwise, The hour hand opens the valve.

PAGE 098




(D - S

= CHINA FU RUI VALVE =——

RS IR

Failure and Countermeasure

P NS Fault Phenomenon

S A8 {E
Pneumatic vavie
does not act

fERE. 81T
Acting siowly

EHS2E LSS
The feedback has no signal

099 PAGE

2 E M HE Check llem

i mﬁm  RERENE RS
5t
Does the solencid work ?ls the circuit bumed? Is

e mandmiol beaciencid block ed by impurity?
2, WSATRRRRESHR  REESERSIL
BERERN.

Nharwpplyhgme pneumatic actuator, are the o-fings
or the cylinder broken?

4. FrUERFRLESF IS,
Is the handle of the manual equipment at the manual state ?

2. SahviTssmtiaE).
Is the output torque of preumakc actuator not enough?

3. RO R ERHEECAE,
Is impurity blocking the valve?

4, SIREEEE , REd/.
Is the air supply pipe blocked making the air filUX too small?

1, EBJRERRIGRRAIHTES.
Is the power shorted out or stopped?

2, [EfFEEACIERE R,
Is the cam of the feedback in the incormect position?

- S[SaTEEERGEREH
Conventional selection accessories for pneumatic actuators

Replace the solenoid coil or remove the impurity

BiRC e ER S,
Replace the braken O - - rings and cylinder body

imbrarE , ERERA.
Clean out the impurity,replace the broken parts

BFiRERISEE.
Put the hand le to the pneu matic state

IRINSIRESI(0 m 4-0.7Mpa
Improve the air pressure ( 0 m4-0.7Mpa )

EASEHV TR R SHTE.
Select a bigger model of the pneumatic actu ator

HEBRIESR , ERhEREEE.,
Clean out the block, replece the filter stem

EROCEIETE
Adjust the cam to the coiment positicn

BRI
Replace the iiqq le on-off

400-159-1688

T EHBEBE RS
[R) s=RLARAS
FURUI VALVE CO_, LTD
Fi/Mob: T 18857760100 / &5 18967735222

EEiE/Tel: 0577-81792777 / 0577-81793777

{£¥/Fax: 0577-89736321

BE4E/Email: enfr@cnfrvalve.com

ol /Web: www.furuivalves.com

f'JL.l : ﬁﬁ%amﬂ I |TH.TIU 5 |i"‘ e ?‘&/I‘\IF& X E

SENEES T —I84685415 R
East head, Building 4, Mo. 468, Binhai Thirteen Road, Xinghai Street, Wenzhou Economic
and Technological Development Zone, Wenzhou City, Zhejiang Province

o

::l:'--'

b A e
Offical account




